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PACKING A PAIR OF GRAPHS{(p,p-1),(p,0)}AND SLATER'S
PROBLEMS

FANG XIN-GUI(1), WANG MIN(2)

(1) Department of Mathematics,Y antai University,Shandong;(2)Department of Mathematics,Y antai
University,Shandong

Abstract ABSIRACILet G be agiven simple undirected graph.We denote the sets of its verticesand edges by V(G) and E
(G) respectively.G is called a (p,p-k) graph if |E(G)|=|V(G)|-k.Let { G_1,G_2}be apair of graphs with the same order If
G_1lisiso-morphic to a subgraph of (?)_2,where (?)_2 isthe complement of G_2,we call the pairof graphs{G_1,G_2}
packable.In this paper,we obtain a necessary and sufficientcondition for {G_1,G_2} to be packable,where [V(G_1)[>8,G 1
isatriangle-free (p,p-1) graph and G_2 is an arbitrary (p,p) graph.Thus,we can easily answer P.J.Slater's two packing
problems.
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